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Y3002 =4 (&H4T) 15 12,161 1, 404 1, 404 162 | BN 15kg ]
V3011 | BN (&) 1 162 162 162 162 | BN 1kg B
31200 |[LIE3E 15 7,949 108 108 86 B TTH
39630 Erio~A ¥ 3 324 32 32 32 BN 103
Y3014 | RAB3E 4 1, 253 76 65 65 | &N 193
31900 X 5 5,076 1,188 1,188 756 | B 5kg
34320 ~_UFET 1 130 32 32 32 | B 4k B
34460 I =L L 1 243 65 65 54 | B 4%y
34100 I 20 6,178 65 65 59 BN 1004
34500 B—= 9 2,916 324 324 324 B 9kg
34500 E— 1 25 15, 746 65 62 62 | B 2514% |
34570 T U H 2 130 11 11 11 BH 12{&
Y3033 AL 100 12, 096 205 65 65 | &7 100kg
Y3044 LY (B 8 691 86 86 86 | 5P 8kg
34930 LA 32 4, 040 54 28 28| B 10574
35940 AL 27 14, 839 702 486 486 | BN 27kg
31500 /A 5 1,814 76 76 76| BN 243
34800 < & 1 778 65 65 65 | BP9 12897
34800 B 5 4 4,158 119 119 119 BWN REE SN
34600 LLEOIRH L 10 5, 141 65| 49 49| BH 98,8y 7
37600 1 9 2 4 2,333 648 648 648 | By 4kg )
49430 ~ v 2— 39 43, 330 594 378 378 BN 951
71150 ULIT 1,555 86 86 86 | N 183
71184 fE=mvaw 2, 560 54 54 12 BH 804
53456 7~ A AplE 1, 231 324 324 324 B 4kg
Y5001 KARHENE 324 162 162 162 | B 2kg
39870 Z Dt 3,024 1,944 1, 944 1,080 BP9 2t
30100 |72 T A L 100 9,720 97 97 97 H#H 1004
30300 A% 2L 40 8, 424 2,376 2, 376 1,836 H[H 44— R
31100 H¥ L 45 3, 564 1,188 1,188 1,188 | EB 37—
33500 ¥ X 1,058 76 76 76 | & 1448
33810  FAEE 5,616 140 140 140 | IR B 404%
Y5005 4 7KZE AN 475 24 24 24 | K45y 2048
31700 ¥y XY 100 19, 440 1,944 1,944 1,944 R 1047 — =
31700 F ¢ 70 14, 364 2, 052 2, 052 2,052 |fE T — %
Y3055 Ly Ry 13 572 54 54 32 | BERS 13{#
31800 IE LA 4] 3,024 151 151 151 | E i 2048
31900 M X 5 5, 508 594 540 540 | BER B 103K (500g)
31930 ¥ 6 5, 508 97 97 86 | K4y 601
32800 1T5 S 5 594 22 5 5B 503
34300 7o 2 L 20 9,612 2, 484 2, 376 2, 376 | = I 44— =

1/2




2/2

4 M fiA
a—F i Stk | PR %8 (1) il T B (BAL)
34400 k= b 20, 628 1,83 1,728 512 1247 — A
34460 I=rF & M 4,147 173 173 173 248y 7 |
34200 FI/R 6,264 3,132 3,132 3,132 2hr—= |
34571 T U H (R) 950 | 119 119 119 8@

34572 ST U () 1,123 140 140 140 8@ ]
36200 FE&AE 5L 12,420 2,484 2,484 2,484 5 — A
36200 i L 11,340 2,268 2,268 2, 268 54— |
Y3027 Ly Rifnx 1,296 432 432 432 3kg |
37200 L Xk 978 2L 3, 780 1,296 1,296 1,188 37 —=
33400 L& = 6,480 | 3,240 3,240 3,240 2 —x |
33600 /St Y 1 540 162 162 108 448

33300 Fmwal— 3 1,296 130 130 130 10{#

38100 A LW\ =iF 2 1,296 65 65 65 2073y 7
31310 HFHE 4 1,512 76 76 76 204 |
31500 /A 8 4,374 119 108 108 4048

31500 /NASE 8 4, 752 119 119 119 404%

32500 ZoE 1 216 22 22 22 105

36700 ZAiT< 3 1,053 43 43 27 30x ¥ b
37560 BB 1 1,728 216 216 108 1073 7
38521 Se L UE 3 1,312 49 49 39 3048 |
38620 T I 3 1, 269 65 38 38 3048

Y4008 N RLAA s 0 A432 1,296 1,296 1, 296 04— A
42000 D AT 40 10,800 2,700 2,700 2,700 44— 2
42320 YV aFI— R 10 5,940 5,940 5,940 5,940 17 —2
43140 Bk L 20 5,886 1,512 1,512 1,404 & 44— 2
43140 B L 10 5,184| 5,184 5,184 5,184 17 —2
45230 ElER L S 2 1, 188 1,188/ 1,188 1,188 17—
45240 EA—RREH 2 1,436 | 1,436 1,436 1,436 \r—=x |
49200 XA T v T 5,832 216 184 184 301H

44650 T —1 3 2,916 292 292 292 1078y 7
49300 F 174 T )L— 2,916 2,916/ 2,916 2,916 17— 2
Y5006  FIN (E541) 34, 668 3,100 2, 894 2, 840 1247 — A
Y5006 I8 (B4 14, 688 -193 193 154 80,3
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